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Mathematics Mega Quiz for RRB NTPC

Q1. In the annual examination Ankita got 10% less marks than Eakta in Mathematics. Ankita got
81 marks. The marks of Eakta are:

T AT qO&T § o & vy § T Ht Tt @ 10% FH &iF I0 S 5. AfHar & 81 siF I g 2.
THAT Y ITH 3 ST A fora?

(a) 90

(b) 87

(c) 88

(d) 89

Q2. The ratio of the number of boys and girls in a school is 2 : 3. If 25% of the boys and 30% of the
girls are scholarship holders, the percentage of the school students who are not scholarship
holders is:

T e § wrEay i At fit €eaT w1 aquTa 2:3 €. AR 25% = AT 30% FEHAT FrAgw a7 g,
e # gy a1 F9 ar g w1 vt e

(@) 72%

(b) 36%

(c) 54%

(d) 60%

Q3. In an examination, 35% of the candidates failed in Mathematics and 25% in English. If 10%
failed in both mathematics and English, then how much percent of candidates passed in both the
subjects?
T TEET H, 35% ST T0rT | 3T 25% T ST § SAqiiof |, A 10% =i 3 v Tt § srqiiof €,
e sfdera & ST Aot § Sl 82
(a) 50%
(b) 55%
(c)57%
(d) 60%

TEST SERIES

Q4. In a village, each of the 60% of families has a cow; each of the Bilingual

30% of families has a buffalo and each of the 15% of families has
both a cow and a buffalo. In all there are 96 families in the
village. How many families do not have a cow or a buffalo?

TF T |, 60% TRATA F 919 T §; 30% TRErd F 0@ 649 g i

RRBNTPC

15% @ & 99 T X 99 490 g, T § 96 A g P E

TRERY % T TF T AT A TE 87 R MIUM
(a) 20 100+ TOTAL TESTS
(b) 24

(c) 26 Validity : 12 Months
(d) 28
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Q5. The ratio of the number of boys and girls in a college is 3 : 2. If 20% of boys and 25% of girls
are adults, the percentage of those students who are not adults is:

T HIAST § ASHI ST ASTHAT T €&AT HT AT 3:2 §. TR 20% ASH A 25% ASTHAT AEF §, 7 sragqeh
BT HT AT ATT HITorA?

(a) 58%

(b) 67.5%

(c) 78%

(d) 82.5%

Q6. The ratio of the number of boys to that of girls in a school is 4 : 1. If 75% of boys and 70% of
the girls are scholarship-holders, then the percentage of students who do not get scholarship is:

T e § aest fY gedr #1 aefHe f @e1r F aquT 4:1 3. IR 75% T=F AR 70% q=HAT gy
HTCH &, TT ST JTAT it G&AT TG HITA ST FTAG T ATCH Tl &

(a) 50%

(b) 28%

(c) 75%

(d) 26%

Q7. The length of a rectangle is increased by 10% and breadth decreased by 10%. Then the area of
the new rectangle is:

TH AT H AaTs 10% F i it et § i< AETS F 10% FH ¥ SATAT §. T4 AT FT SAEA:

(a) neither decreased nor increased
(b) increased by 1%

(c) decreased by 1%

(d) decreased 10%

Q8. If the price of a commodity is increased by 50%. By what fraction must its consumption be
reduced so as to keep the same expenditure on its consumption?

TH & 6l a 50% 3 STAT 8. TG 1 @Iq I AT AT @ F AT ST ITINT H FFaqar F:7 FT
-@'rr[?
(@)
()5
OF
()=

Q9. A reduction of 25% in the price of rice enables Bhuvnesh to buy two kg more rice for Rs. 240.
The reduced per kg price of rice is

ATAA & T T 25% FY FHT F HTT a4 240 T H 2 .97, 8l =« @i aar 2. iafdadr =& fi
AT H 1S HHT TTq FfoA?

(a) Rs. 30

(b) Rs. 25

(c) Rs. 20

(d) Rs. 15
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Q10. The price of a certain item is increased by 15%. If a consumer wants to keep his expenditure
on the item the same as before, how much percent must he reduce his consumption of that item?
T A3 avg F 957 7 15% $ 957 St . IR TTEF ST I I IAT 7T HIT TEAT FATgaT &, a6 9 39
F&g &t @uq § fFaq yiaaa w4 w0 gefi?
(a) 1509

1
) 135%

2
16
(@ %P

Q11. X starts a business with Rs 80000. After 6 months Y joins X with Rs 100000. After 2 years,
what will be the ratio of profit of X and Y?

X, 80000 ¥. ¥ 9T T AIATT ALH FAT gl 6 A 912 Y, 100000 %. FT [T Fh X F a1 19 gy
SITAT 81 2 9 918 Xl Y & ATH & S4Td Fohae T gim?

(a) 16:15

(b)4:5

(c)8:9

(d)14:15

Q12. The elevation of a tower at a station A due north of it is a and at a station B due west of A is (.
Then the height of the tower is —

T 21X & SAL H W A I SFAAT HI o g AL TqT A F IR § €49 B X ITIT I B §, Tl 1@< i
ST B—

AB sinasin
(a) y/5in® a—sin® g

AR ginocoz A adda
————— publications
(b) Jein® a—sin® B
(1] ”
AR a e Enc THE CRACKER
(c) /ein®a—sin®p GENERAL AWARENESS
AB cosecasinf 03I O 3 v i P e i e et A
(d) Jsin® a—sin® B Useful for RRB JE, RRB NTPC,

SSC CGL & Other Exams

Q13. What is the average of all the one digit and two digit
natural numbers?

Toft - R Q- TTHa deaTet i sivaa fhaer 82

Based on Latest Pattern

(a) 25 s e
(b) 40 R o
(c) 50
(d) 99
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Q14. A right angled isosceles triangle is inscribed in a semi-circle of radius 7 cm. The area
enclosed by the semi-circle but exterior to the triangle is

T GHFHI quigarg Brgst, 7 auft Bsar & s ad-3a § awafiira g1 Bt F a8 stef-a<7 g7 3% T 90T
T ATHA &

(a) 14 FHT2

(b) 28 THY?

(c) 44 THY?

(d) 68 THt?

Q15. In an isosceles triangle DEF, «D = 110°. If I is the incentre of the triangle, then what is the value (in
degrees) of £EIF?

T qHfgaTg st DEF #, 2D = 110° 81 IR I, B[ &7 st=q:%% §, a1 £EIF %1 91+ (=3t #) 4w 87

(a) 110

(b) 130

(c) 145

(d) 155

Q16.1f (1/3.197) = 0.3127, find the value of (1/0.0003197).
Tf (1/3.197) = 0.3127 &, ¥ (1/0.0003197) FT HIT AT FIfor|
(a) 3127

(b) 3197

(c) 312.7

(d) 0.3127

Q17. A man bought one cow & one goat at Rs. 2500. He sold cow at 20% profit and goat at 30%. Find the
C.P. of goat if selling price of both was same?

T 1< Teh T I Teh a6t 2500 . H GURAT gl T T HT 20% AT I 3 T il 30% AT 9L S=9aT
g1 T AT T [AHIHT T g, AV TH F7 6.7, J1q Do |

(a) 1200

(b) 1300

(c) 1250

(d) None of these/ZAH & &I Aal

Q18. Find the successive discount of 10%, 15% and 20% is?
10%, 15% 3T 20% it FHARTT Fe AT HITSA

(a) 40.8

(b) 38.2

(c) 38.8

(d) 39.6
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Q19. The two lines 4x+3y=0 and 7x+5y=0 will __ in their graphical representation.
UTiohser =T & &7 {@TU 4x+3y=0 3< 7x+5y=0 ____

(a) be parallel to each other/ TH-gHY & AHTATAL BT

(b) intersect each other at one point only/ &< T& ﬁ‘g T Q’ﬁw‘-{(ﬁ T TFA=E FAT

(c) intersect each other at three points only/ Fael T+ foegall 9T TH-gaL &l TTd=a H
(d) coincide each other/ T#-g&Y & TFITAT gAY

Q20. In the following figure, O is the centre of the circle and 2PRQ = 50°. What is the value (in degrees) of
£PTQ?
Feferfera srsfa &, 0 33 %71 7 § ik £PRQ = 50° &1 £PTQ &7 A1+ (R3ft ®) w1 87

s

R

(a) 100
(b) 75

(c) 130
(d) 150

Q21. Reflection of the point (2,-7) in the y-axis is
y-31e1 ¥ &g (2, -7) %1 afafa=r &

(@) (2,7)

(b) (-2,-7)

(c) (-7,2)

(d) (7,-2)

Q22. The price of an article is cut by 3%. To restore to its original value, the new price must be increased by
TS TG & G4 H 3% HT FHT AT ATt g1 THHT ALTHE o [O-ITH FLA & (o 9¢ g7 | fhasit gieg Fv
gRit?

(@) 3%
(b) 7.11 %
(c)3.09%
(d) 2.69 %

Q23. Simple interest on a certain sum of money for 3 years at 8% per
annum is half the compound interest on Rs. 16000 for 2 years at 10%
per annum. The sum placed on simple interest is:

s Afsra gaafr  x 8% afdw e & 3 o &1 "rETRr suT™, 16000
RIS ZE ek Esir-nc ik cukacukeicll - 25 Previous Year Papers

RRB NTPC STAGE-I

< e 8 i &
(a) Rs 14000 / :
(b) Rs 3500 Online Test Series
(c) Rs 7000

(d) Rs 5600
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Q24. On dividing 144a%b3c® by 24b3c, we get

144a%b3c? F¥ 24b? ¢ ZarT fAanfoT & w, g& wea ghm
(a) 6a®bc?

(b) 24a3bc?

(c) 24b3c

(d) 6a*bc

Q25. If cos*A - sin*A=X, then value of X is?
TfE cos*A - sin*A=X, a X ST AW FT gr?
(a) cos*A-1

(b) Zcos?A-1

(©) 2eosA+ 1

(d) cos*A+1

Q26. Ticket for an adult is Rs 1600 and a child is Rs 1200. 1 child goes free with two adults. If a group has
23 adults and 10 children what is the discount the group gets?

TF 9a6F & T fose 1600 T9% g 3% U& 99 ¥ T 1200 93 81 OF a7 < a9t & 919 % & S[rar g
I TF Tg # 23 9% 3fT 10 99 €, 97 S 99g & hat ge ww St &2

(a) 25.95 %

(b) 24.59 %

(c) 25.77 %

(d) 31.60 %

Q27. A tent is to be built in the form of a cylinder of radius 10 m surmounted by a cone of the same radius. If
the height of the cylindrical part is 5 m and slant height of the conical part is 15 m, how much canvas will be
required to build the tent? Allow 20% extra canvas for folding and stitching. (Take m = 22/7)

T 2, 10 Ht FBsar a1t I F A § F91A7 ST B, e Su g B & o grm IR e W
T FATS 5 HieT § 3MT AHTHIL TN & [dd® SHA1s 15 HeX g, a7 2 q919 & forg fha F=ame $it srasgwar
BI? T i Bars % g 20% s Svame faar smar g1 (11 = 22/7 ()

(a) 4714.43 sqm

(b) 3772.14 sq m

(c) 6783.86 sq m

(d) 942.8 sq m

Q28. 7 hrs after a goods train passed a station, another train travelling at a speed of 54 km/hr following
that goods train passed through that station. If after passing the station the train overtakes the goods train
in 11 hours. What is the speed of the goods train?

TS & T 9 H UK A & 7 = MG, 39 ANt & N & 54 Ff/ st f afq & st o s
TS ST LU &l TR FAT g1 TS T TR AL & 918 98 o 11 5 § ATRSt § A9 b 1t g, v
ATATET H e T A

(a) 39.6 km/hr

(b) 49.5 km/hr

(c) 33 km/hr

(d) 26.4 km/hr
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Q29. The simplified form of 112b%*x*a*z%/7a%b?z is? '3 publications

112b%x2a*z3/7a%b2z &1 'ﬂ'{?ﬁﬁ T “THE CRACKER”

Vs GENERAL SCIENCE

(a) 16bx*a’z
Multiple Choice Questions Book
(b) 16bx*az? with Detailed Explanations
(c) 16baz
(d) 16bxa’z . :
NEe
Q30. What is the equation of the line if its slope is 3/4 and y intercept FIRST EDITION
is 57 1800+
. Hultiple Cholce

G FT FHIHLOT AT o TS Tt TATT 3/4 8 3R y Te@< 551 il pe W
(a) 3X + 4y — 20 Solutions &'E;’i a‘;i.ls:rp?:s
(b) 3x + 4y = 20 =
(c) 3x-4y =-20
(d) 3x4y =20
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